
P.T.O.

Roll No......................       Total No. of Section               :  03

Total  No. of Printed Pages  :  10

Code No. : B/3003

Second Semester Examination, May 2017

M.Com.

Paper - III

CORPORATE FINANCIAL ACCOUNTING

Time : 3 Hrs.           Max.Marks : 80

¹þãq ß h½»þ '¡' tçÞ Ày ¡âm viåÙàÊã ZàÎÂà ÑèA, âkÂÑçÞ Ñv §ýÊÂàà ¡âÂàwàuê Ñèñ h½»þ
'r' tçÞ jàÊ viåÙàÊã mnà ¡àÞmáÊ§ý âw§ýÌquäQý ZàÎÂà Ñè ñ h½»þ 'y' tçÞ jàÊ
Àãiê£ÙàÊã ZàÎÂà ÑèA, âkÂàtçÞ yç Zà¾uç§ý tçÞ ¡àÞmáÊ§ý âw§ýÌq ÑèÞ ñ h½»þ '¡' §ýàç
yryç qÑvç Ñv §ýÊçÞ ñ

Note :Section 'A', consists of 10 very short answer type

questions, all of which are compulsory and should be

attempted first. Section 'B' consists of four short answer

type questions with internal options. Section 'C' consists

of four long answer type questions with internal choice.

h½»þ-'¡'h½»þ-'¡'h½»þ-'¡'h½»þ-'¡'h½»þ-'¡'(Section-'A')

âÂàÈÂàâvâhm ¡âmviåÙàÊã ZàÎÂàà ç Þ §çý £ÙàÊ ¥§ý uà Ààç wà¨uàç ÞâÂàÈÂàâvâhm ¡âmviåÙàÊã ZàÎÂàà ç Þ §çý £ÙàÊ ¥§ý uà Ààç wà¨uàç ÞâÂàÈÂàâvâhm ¡âmviåÙàÊã ZàÎÂàà ç Þ §çý £ÙàÊ ¥§ý uà Ààç wà¨uàç ÞâÂàÈÂàâvâhm ¡âmviåÙàÊã ZàÎÂàà ç Þ §çý £ÙàÊ ¥§ý uà Ààç wà¨uàç ÞâÂàÈÂàâvâhm ¡âmviåÙàÊã ZàÎÂàà ç Þ §çý £ÙàÊ ¥§ý uà Ààç wà¨uàç Þ
tçÞ Àç ñ (tçÞ Àç ñ (tçÞ Àç ñ (tçÞ Àç ñ (tçÞ Àç ñ (Answer the following very short-answer-type

questions in one or two sentences)         (2)         (2)         (2)         (2)         (2x10=20)10=20)10=20)10=20)10=20)

ZàÎÂà-1. ©uàâm §ýL qáÊsàxà Àãâk¥ ñ

Define Goodwill.

ZàÎÂà-2. âwâÂàuàçâkm qåÞkã yç ¨uà ¡àÎàu Ñè?

What is meant by Capital Employed?

ZàÎÂà-3. ÑÐmàÂmÊ§ý §ýÈqÂàã yç ¨uà ¡àÎàu Ñè?

What is meant by Transferor company?

Code No. : B/3003(10)

b) Preferential creditors Rs. 6000

c) Unsecured creditors Rs. 30,500

d) Liquidation expenses Rs. 252

Liquidator's remuneration : 3% on the amount realised and 1.5%

on the amount distributed to unsecured creditors. Rs. 26000 were

realised from various assets and this amount does not include

those securities which are with secured creditors. Liquidator is

entitled for remuneration on the amount realised on all the assets

including those which are with the secured creditors.

Prepare liquidator's final statement of account.

OR

âÂàÈÂàâvâhm §ýàç ytlà¢¥ ñ

1) 'vàsàÞÎà yâÑm' ¥wÞ 'vàsàÞÎà ÊâÑm' âwâÂàuàçªà

2) âwâÂàuàçªààçÞ §ýà tåÌuàÞ§ýÂà

Explain the following :

1) 'Cum-Dividend' and 'Ex-Dividend' Investments

2) Valuation of Investments.

---x---
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Code No. : B/3003(2)

ZàÎÂà-4. ¡âo§æým qåÞkã §ýàç ytlà¢¥ ñ

Explain Authorised capital.

ZàÎÂà-5. ¡àÂmáÊ§ý qäÂàâÂàêtà½à §ýL Ààç âwâouàçÞ §çý Âààt âvâh¥ ñ

Write any two names of methods of Internal

Reconstruction.

ZàÎÂà-6. âj¹îþºþà ¨uà Ñè?

What is Balance Sheet?

ZàÎÂà-7. âÂàÐmàÊ§ý yç ¨uà ¡àÎàu Ñè?

What is meant by Liquidator?

ZàÎÂà-8. ¡wÐnà âwwÊ½à §ýr rÂààuà kàmà Ñè?

When statement of Affairs is prepared?

ZàÎÂà-9. ©uàâm §ýL Zà§æýâm §çý mãÂà Âààt âvâh¥ ñ

Write down the three names of nature of Goodwill.

ZàÎÂà-10. qåÞkã §ýtã hàmà ¨uà Ñè?

 What is Capital Reduction Account?

h½»þ-'r'h½»þ-'r'h½»þ-'r'h½»þ-'r'h½»þ-'r'(Section-'B')

âÂàÈÂàà Þ â§ým viä £ÙàÊãu ZàÎÂàà ç Þ  § ç ý £ÙàÊ 200-250 ÎàÆÀâÂàÈÂàà Þ â§ým viä £ÙàÊãu ZàÎÂàà ç Þ  § ç ý £ÙàÊ 200-250 ÎàÆÀâÂàÈÂàà Þ â§ým viä £ÙàÊãu ZàÎÂàà ç Þ  § ç ý £ÙàÊ 200-250 ÎàÆÀâÂàÈÂàà Þ â§ým viä £ÙàÊãu ZàÎÂàà ç Þ  § ç ý £ÙàÊ 200-250 ÎàÆÀâÂàÈÂàà Þ â§ým viä £ÙàÊãu ZàÎÂàà ç Þ  § ç ý £ÙàÊ 200-250 ÎàÆÀ
yãtà tçÞ ÀçÞ ß (yãtà tçÞ ÀçÞ ß (yãtà tçÞ ÀçÞ ß (yãtà tçÞ ÀçÞ ß (yãtà tçÞ ÀçÞ ß (Answer the following short-answer-type

questions with word limit 200-250)))))    (5   (5   (5   (5   (5x4=20)4=20)4=20)4=20)4=20)

ZàÎÂà-1. ©uàâm §çý tåÌuàÞ§ýÂà §ýL ¡âovàs âwâo §ýàç ytlà¢¥ ñ §ýàÌqâÂà§ý ¡àÞ§ýð»þàçÞ
§ýà Zàuàçªà â§ýuà kà y§ýmà Ñè ñ

Explain the super profit method of valuation of Goodwill.

Imaginary figures may be used.

Code No. : B/3003(9)

P.T.O.

5) The value of the machinery is to be increased by

Rs. 50,000.

Pass the entries in the Journal for the above and prepare

revised Balance Sheet.

OR

qåÞkã §ýtã hàmà §ýr, ¨uàçÞ ¡àèÊ §èýyç rÂààuà kàmà Ñè? ¢y§çý âv¥ vçhà
qäÐm§ýàçÞ tçÞ §ýL kàÂàç wàvã Zàâwâ˜þuàÝ Àãâk¥ ñ

When, why and how capital reduction account is prepared?

Give the journal entries passed in the books of accounts

for the reduction of capital.

ZàÎÂà-4. âÂàÈÂà Ààâu¾wàçÞ §çý yàn ÊtçÎà §ýÈqÂàã âvât¹çþ»þ §ýà ytàqÂà ÑB¡à ß

(¡) ÊâÕàm vçÂàÀàÊ 20,000 Ûý. (25000 Ûý. ZàâmsåâmuàçÞ yç ZààÃm
ÑBuç ñ)

(r) qåwàêâo§ýàÊ vçÂàÀàÊ - 6000 Ûý. ñ

(y) ¡ÊâÕàm vçÂàÀàÊ - 30500 Ûý. ñ

(À) âÂàÐmàÊ½à §çý 252 Ûý. Íuu ÑBuç ñ

âÂàÐmàÊ§ý wyåv ÑB¢ê oÂàÊàâÎà §ýà 3% mnà ¡ÊâÕàm vçÂàÀàÊàçÞ §ýàç âwmáÊm
§ýL ªàuã ÊàâÎà §ýà 1.5% qàáÊóât§ý ZààÃm §ýÊÂàç §ýà ¡âo§ýàÊã Ñè ñ âwâsÂÂà
yÈqâÙàuàçÞ yç 26000 Ûý. wyåv ÑBuç âkÂàtçÞ ¥çyã yÈqâÙàuàÝ yOÈtâvm ÂàÑã
ÑèA kàç qå½àê ÊâÕàm vçÂàÀàÊàçÞ §çý qày ÑèA ñ âÂàÐmàÊ§ý ¡qÂàç qàáÊóât§ý §ýàç rçjã
ªàuã yÈqâÙàuàçÞ yç ZààÃm oÂà yç vçÂàç §ýà ¡âo§ýàÊã Ñè, âkÂàtçÞ wç ZàâmsåâmuàÝ
sã yOÈtâvm Ñè kàç qå½àê ÊâÕàm vçÂàÀàÊàçÞ §çý qày ÑèA ñ

âÂàÐmàÊ§ý §ýà ¡Þâmt âwwÊ½à hàmà rÂàà¢¥ ñ

Ramesh Ltd. went into liquidation with following

liabilities :

a) Secured creditors Rs. 20000

(Securities realised Rs. 25,000)
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Code No. : B/3003(8) Code No. : B/3003(3)

OR

vàsàÞÎà ¡àu âwâo õàÊà ¡ÞÎààçÞ §ýà tåÌuàÞ§ýÂà â§ýy Zà§ýàÊ â§ýuà kàmà Ñè ?
ytlà¢¥ ñ

How shares are valued by Dividend-Yield Method?

Explain.

ZàÎÂà-2. ¥§ýL§ýÊ½à §çý £öçÎu ¥wÞ ªàä½à-ÀàçxàçÞ §ýL Íuà©uà §ýLâk¥ ñ

Describe the objectives and merits-demerits of

Amalgamation.

OR

âwvu §çý Ðwsàw ¥wÞ §íýu §çý Ðwsàw §çý ¥§ýL§ýÊ½à yç ¡àq ̈ uà ytlmç ÑèA?
¢Âà ÀàçÂààçÞ tçÞ ¨uà ¡ÞmÊ Ñè?

What do you understand by Amalgamation in the nature of

merger and nature of purchase? What is the difference

between the two?

ZàÎÂà-3. §ýÈqÂàã §çý ¡àÂmáÊ§ý qäÂàâÂàêtàê½à yç ¨uà mà¾quê Ñè? £Âà qáÊOÐnâmuàçÞ §ýàç
rmà¢¥ âkÂàtçÞ ¡àÂmáÊ§ý qäÂàâÂàêtàê½à ¡àwÎu§ý Ñàç kàmà Ñè ñ

What is meant by internal reconstruction of a company?

State the circumstances in which internal reconstruction

becomes necessary.

OR

ràü qäÂàâÂàêtàê½à §ýà ¡àÎàu ¥wÞ £öçÎu rmà¢¥ ñ ¡àÂmáÊ§ý ¥wÞ ràü qäÂàâÂàêtàê½à
tçÞ ¡ÞmÊ §ýLâk¥ ñ

Explain the meaning and objectives of external

reconstruction. Distinguish between internal and

external reconstruction.

ZàÎÂà-4. ¡wyàu§ý (âÂàÐmàÊ§ý) §çý ¡Þâmt vçhà âwwÊ½à §ýàç ytlà¢¥ ñ

Explain the liquidators final statement of account.

tÎàãÂàÊã (Machinery) 3,00,000

      ¡tåmê yÈqâÙàuàÝ (Intangible Assets) :

©uàâm (Goodwill)    15,000

jàvå yÈqâÙàuàÝ (Current Assets) :

ÊÑâmuà (Stock)   50,000

ÍuàqàáÊ§ý ZààÃu (Trade receivables)   40,000

         6,05,000

§ýÈqÂàã Âàç âÂàÈÂà uàçkÂàà §ýL â¹ìþÆuåÂàv yç Ðwã§æýâm vã ß

1) qåwàêâo§ýàÊ ¡ÞÎà §ýL ÊàâÎà Zàâm ¡ÞÎà i¹þà§ýÊ 75 Ûý. qå½àê jä§ýmà
§çý Ûýq tçÞ mnà ytmà ¡ÞÎà §ýL ÊàâÎà i¹þ§ýÊ 37.50 Ûý. ÑàçÂàà
Ñè ñ

2) ¦ý½àqØàoàáÊuàçÞ Âàç ¡qÂàã ÊàâÎà §çý qå½àê jä§ýmà §çý rÀvç tçÞ Ð¹þà§ý
w ÍuàqàáÊ§ý ZààÃuàçÞ §ýL ÊàâÎà §ýàç âvuà ñ

3) ©uàâm hàmà §ýàç ytàÃm §ýÊÂàà Ñè ñ

4) swÂà §ýàç 50% yç gàâym §ýÊÂàà Ñè ñ

5) tÎàãÂà §ýà tåÌu 50,000 Ûý. rð¼þàÂàà Ñè ñ

£quäêQý §çý âv¥ kÂàêv tçÞ vçhç §ýLâk¥ mnà yÞÎààçâom âj¹îþºþà rÂàà¢¥ ñ

The company got the following scheme approved by the

court :

1) The preference shares to be reduced to Rs. 75

per share fully paid-up and Equity shares to Rs.

37.50.

2) The debenture holders took over the stock and

trade receivables in full satisfaction of the amount

due to them.

3) The goodwill account to be eliminated.

4) The building is to be depreciated by 50%. P.T.O.
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Code No. : B/3003(4) Code No. : B/3003(7)

OR

âwâÂàuàçªà §çý yÞrÞo tçÞ 'Æuàk yâÑm' ¥wÞ 'Æuàk ÊâÑm' ÎàÆÀàçÞ §ýàç Ðq˜þ
§ýLâk¥ ñ ªà½àÂàà §ýà ¥§ý-¥§ý £ÀàÑÊ½à sã Àãâk¥ ñ

Explain the terms 'Cum-Interest' and 'Ex-Interest'

regarding Investment. Also give an example for each.

h½»þ-'y'h½»þ-'y'h½»þ-'y'h½»þ-'y'h½»þ-'y'(Section-'C')

âÂàÈÂàà Þ â§ým Àãiê £ÙàÊãu ZàÎÂàà ç Þ  § ç ý £ÙàÊ 400-450 ÎàÆÀâÂàÈÂàà Þ â§ým Àãiê £ÙàÊãu ZàÎÂàà ç Þ  § ç ý £ÙàÊ 400-450 ÎàÆÀâÂàÈÂàà Þ â§ým Àãiê £ÙàÊãu ZàÎÂàà ç Þ  § ç ý £ÙàÊ 400-450 ÎàÆÀâÂàÈÂàà Þ â§ým Àãiê £ÙàÊãu ZàÎÂàà ç Þ  § ç ý £ÙàÊ 400-450 ÎàÆÀâÂàÈÂàà Þ â§ým Àãiê £ÙàÊãu ZàÎÂàà ç Þ  § ç ý £ÙàÊ 400-450 ÎàÆÀ
yãtà tçÞ ÀçÞ ß (yãtà tçÞ ÀçÞ ß (yãtà tçÞ ÀçÞ ß (yãtà tçÞ ÀçÞ ß (yãtà tçÞ ÀçÞ ß (Answer the following long-answer-type

questions with word limit 400-450)         (10)         (10)         (10)         (10)         (10x4=40)4=40)4=40)4=40)4=40)

ZàÎÂà-1. âÂàÈÂààÞâ§ým yåjÂàà yç wàâxê§ýL âwâo yç ©uàâm §ýL ªà½àÂàà §ýLâk¥ - ¡àèym
âÂàuàçâkm qåÞkã 5,00,000 Ûý., vàs §ýL yàoàÊ½à ÀÊ 10%, vàsß
2011-70,000 Ûý., 2012-61,000 Ûý., 2013-85,000 Ûý. ñ
2012 §çý vàs §ýL ªà½àÂàà 5000 Ûý. §ýL ¡yàoàÊ½à ÑàâÂà §ýàç ¡qâvâhm
§ýÊÂàç §çý ràÀ §ýL ªàuã Ñè ¡àèÊ 2013 §çý vàsàçÞ tçÞ 11,000 Ûý. §ýL
¡Âààwmê§ý ¡àu yOÈtâvm Ñè ñ ©uàâm §ýL ªà½àÂàà ¡âovàsàçÞ §çý 3 wxàG §çý
§íýu §ýL wàâxê§ýL âwâo §çý ¡àoàÊ qÊ §ýÊÂàã Ñè ñ

From the following information, compute the value of

Goodwill as per annuity method-

Average capital Employed- Rs.5,00,000, Normal Rate of

profit 10%, Profits for : 2011- Rs. 70,000, 2012 - Rs.

61,000, 2013- Rs. 85,000.

Profits for 2012 have been arrived at after writing off abnormal

loss of Rs. 5000 and profits of 2013 include a non-recurring

income of Rs. 11,000. Goodwill is to be calculated on the basis

of annuity of 3 years purchase of super profits.

ZàÎÂà-3. ¡àÊ. âvât¹çþ»þ §ýà âj¹îþºþà 31 tàjê 2016 §ýàç âÂàÈÂà Zà§ýàÊ Ñèß

Following is the Balance Sheet of R. Ltd. as at 31st March,

2016.

âwwÊ½àâwwÊ½àâwwÊ½àâwwÊ½àâwwÊ½à ( ( ( ( (Particulars))))) Ûý. (Ûý. (Ûý. (Ûý. (Ûý. (Rs.)))))

I ytmà ¥wÞ Ààâu¾w (Equity and Liabilities)

 ¡ÞÎàoàÊã qåÞkã (Share holder's fund) :

100 Ûý. wàvç 2000 qåwàêâo§ýàÊ ¡ÞÎà

(2000 Pref. Shares of Rs. 100 each) 2,00,000

100 Ûý. wàvç 4000 ytmà ¡ÞÎà

(4000 Equity Shares of Rs. 100 each) 4,00,000

yÞju ¥wÞ ¡àâo¨u (Reserves and Surplus) :

vàs ÑàâÂà hàmà (âw§ývÂà Îàçx)

(Profit and Loss Account Debit balance) (2,45,000)

ªàèÊ jàvå Ààâu¾w (Non-current Liabilities) :

5% rÞo§ý ¦ý½àqØà (5% mortgage debenture) 1,00,000

jàvå Ààâu¾w (Current liabilities) :

rèA§ý ¡àçwÊ»ìþàÅ¹þ (Bank overdraft)    50,000

ÍuàqàáÊ§ý Àçu (Trade payables) 1,00,000

6,05,000

II yÈqâÙàuàÝ (Assets)

ªàèÊ jàvå yÈqâÙàuàÝ (Non-current Assets) :

  OÐnÊ yÈqâÙàuàÝ (Fixed Assets) :

     tåmê yÈqâÙàuàÝ (Tangible Assets) :

swÂàþ (Building) 2,00,000
P.T.O.
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Code No. : B/3003(5)

OR

yäoãÊ âvât¹çþ»þ tçÞ 50,000 ytmà ¡ÞÎà 10 Ûý. wàvç 8 Ûý. ÀÙà ÑèA ñ
§ýÈqÂàã Zà¾uç§ý wxê vàs §ýà 10% yàtàÂu yÞju tçÞ ÑÐmàÂmáÊm §ýÊmã Ñè ñ
¡ÂàätàâÂàm vàs (ªàm wxê §çý §ýàuê qÊ ¡àoàáÊm) ârÂàà §ýÊ §ýà¹çþ 10,00,000
Ûý. Ñè, ¡àèÊ §ýÊ §ýL ÀÊ 65% Ñè ñ vàsàÞÎà §ýL yàtàÂu ÀÊ 16% Zàâmwxê
Ñè ñ yäoãÊ âvât¹çþ»þ §ýL 7% qåwàêâo§ýàÊ ¡ÞÎà qåÞkã 4,00,000 Ûý. Ñè kàç
10Ûý. wàvç ¡ÞÎààçÞ tçÞ Ñè ñ ¡àu âwâo yç ¡ÞÎà §ýà tåÌu âÂà§ýàâv¥ ñ

Sudhir Ltd. has 50,000 Equity shares of Rs. 10 each, Rs. 8

paid. The company transfers 10% of profit to General

Reserve every year. The expected profit (based on

previous year's performance) before tax is Rs. 10,00,000

and the rate of tax is 65%. Normal rate of dividend is 16%

per annum. Sudhir Ltd.'s 7% preference share capital is

Rs. 4,00,000 divided into shares of Rs. 10 each. Find out

the value of share by yield method.

ZàÎÂà-2. ÑÐmàÂmÊ§ý ¡àèÊ ÑÐmàÂmÊã §ýÈqÂàã â§ýyç §ýÑmç ÑèA ? âwvu §çý Ðwsàw §çý
¥§ýL§ýÊ½à tçÞ ÑÐmàÂmÊã §ýÈqÂàã §ýL qäÐm§ýàçÞ tçÞ §ýàèÂà yã Zàâwâ˜þuàÝ §ýL kàmã
Ñè?

Which companies are called Transferor and Transferee?

What journal entries are made in the books of transferee

in the nature of merger?

OR

¡ku sàªàêw ¥½»þ §ýÈqÂàã âvât¹çþ»þ §ýL âÂàÈÂàâvâhm yÈqâÙàuàçÞ ¥wÞ Ààâu¾wàçÞ
§çý yàn, ¡ku sàªàêw §ýÈqÂàã §ýà ¥§ýL§ýÊ½à yÞkãw Îàtàê ¥½»þ §ýÈqÂàã õàÊà
â§ýuà ªàuà ß

Ðnàuã yÈqâÙàuàÝ - 62,000 Ûý.

¡ÞÎà qåÞkã - 90,000 Ûý.

jv yÈqâÙàuàÝ - 33,000 Ûý.
P.T.O.

Code No. : B/3003(5)

OR

yäoãÊ âvât¹çþ»þ tçÞ 50,000 ytmà ¡ÞÎà 10 Ûý. wàvç 8 Ûý. ÀÙà ÑèA ñ
§ýÈqÂàã Zà¾uç§ý wxê vàs §ýà 10% yàtàÂu yÞju tçÞ ÑÐmàÂmáÊm §ýÊmã Ñè ñ
¡ÂàätàâÂàm vàs (ªàm wxê §çý §ýàuê qÊ ¡àoàáÊm) ârÂàà §ýÊ §ýà¹çþ 10,00,000
Ûý. Ñè, ¡àèÊ §ýÊ §ýL ÀÊ 65% Ñè ñ vàsàÞÎà §ýL yàtàÂu ÀÊ 16% Zàâmwxê
Ñè ñ yäoãÊ âvât¹çþ»þ §ýL 7% qåwàêâo§ýàÊ ¡ÞÎà qåÞkã 4,00,000 Ûý. Ñè kàç
10Ûý. wàvç ¡ÞÎààçÞ tçÞ Ñè ñ ¡àu âwâo yç ¡ÞÎà §ýà tåÌu âÂà§ýàâv¥ ñ

Sudhir Ltd. has 50,000 Equity shares of Rs. 10 each, Rs. 8

paid. The company transfers 10% of profit to General

Reserve every year. The expected profit (based on

previous year's performance) before tax is Rs. 10,00,000

and the rate of tax is 65%. Normal rate of dividend is 16%

per annum. Sudhir Ltd.'s 7% preference share capital is

Rs. 4,00,000 divided into shares of Rs. 10 each. Find out

the value of share by yield method.

ZàÎÂà-2. ÑÐmàÂmÊ§ý ¡àèÊ ÑÐmàÂmÊã §ýÈqÂàã â§ýyç §ýÑmç ÑèA ? âwvu §çý Ðwsàw §çý
¥§ýL§ýÊ½à tçÞ ÑÐmàÂmÊã §ýÈqÂàã §ýL qäÐm§ýàçÞ tçÞ §ýàèÂà yã Zàâwâ˜þuàÝ §ýL kàmã
Ñè?

Which companies are called Transferor and Transferee?

What journal entries are made in the books of transferee

in the nature of merger?

OR

¡ku sàªàêw ¥½»þ §ýÈqÂàã âvât¹çþ»þ §ýL âÂàÈÂàâvâhm yÈqâÙàuàçÞ ¥wÞ Ààâu¾wàçÞ
§çý yàn, ¡ku sàªàêw §ýÈqÂàã §ýà ¥§ýL§ýÊ½à yÞkãw Îàtàê ¥½»þ §ýÈqÂàã õàÊà
â§ýuà ªàuà ß

Ðnàuã yÈqâÙàuàÝ - 62,000 Ûý.

¡ÞÎà qåÞkã - 90,000 Ûý.

jv yÈqâÙàuàÝ - 33,000 Ûý.
P.T.O.
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Code No. : B/3003(6)

yàtàÂu yÞju - 2,000 Ûý.

âwâwo Àçumà¥Ý - 8,000 Ûý.

yÞkãw Îàtàê ¥½»þ §ýÈqÂàã âvât¹çþ»þ Âàç ¡ku sàªàêw ¥½»þ §ýÈqÂàã âvât¹çþ»þ
§ýàç âÂàÈÂàâvâhm §íýu-ZàâmÄýv §ýà säªàmàÂà â§ýuà ß

1) 20,000 Ûý. yåjã tåÌu §çý 5% ¦ý½àqØà, 5% ZàÆuàâk qÊ

2) Îàçx 1 Ûý. wàvç ¡ÞÎà, 75 qèyç jä§ýmà tåÌu qÊ ñ

¡ku sàªàêw ¥½»þ §ýÈqÂàã âvât¹çþ»þ §ýL qäÐm§ýàçÞ tçÞ qÞkã Zàâwâ˜þuàÝ §ýLâk¥ ñ

Sanjeev Sharma and Co. Ltd. amalgamated the Ajay Bhargav

and Co. Ltd. with the following assets and liabilities of

Ajay Bhargav and Co. Ltd. -

Fixed Assets - Rs. 62,000

Shares Capital - Rs. 90,000

Current Assets - Rs. 33,000

General Reserve - Rs. 2,000

Sundry Liabilities - Rs. 8,000

Sanjeev Sharma and Co. Ltd. paid the following purchases

consideration to Ajay Bhargav and Co. Ltd. :

1) 5% Debentures of Rs. 20,000 listed value at 5%

premium

2) Balance with shares of Rupee 1, paid up value 75

paise.

Pass the journal entries in the books of Ajay Bhargav and

Co. Ltd.
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